ITI Wireman 1st Year Module 5 Power System, Substation Equipment
and Earthing

(1). What will happen to the value of earth resistance, if length of the earth pipe is
increased? | 31T UfeRTY & dog 1 g, 3R S1ffTT Uy &1 daTs aaT al
SMd?

(A) Remain same | G g1 XgiT
(B) Increases | Sgdll &

(C) Decreases | H Bl Sl &
(D) Infinity | 3=

Correct Answer : C

(2). Which is conventional power generation? | URURS fooidl SdGs® B I

gl

(A) Thermal | Y¥Hd

(B) Solar | TR

(C) Biogas | ST

(D) Wind energy | fdg Tasif

Correct Answer : A

(3). Why system earthing is essential to the security of the system? | e aifdf

R o YRef & fory =Y i g2
(A) It protects from all faults | ﬁ%’ﬂ“—ﬂﬁﬁ@?&ﬂm%
(B) It protects human | Wwﬁv&nm%



(C) Itis connected to the non current carrying metal work | H’s’ﬁ? YR UHT%H

Y1d B A ST 8

(D) Itis associated with current carrying conductors | g WEIGT%HWH’I@[
HedeR A JSTRIAT 8

Correct Answer : D

(4). How the earth resistance can be reduced? | q@%qﬁﬁﬂﬁﬁmm
ST gl 8°?

(A) By reducing the pit depth | T@ﬁ‘lé?lé HH PR
(B) By reducing the diameter of electrodes | sﬁ?ﬁj@:%mﬁmm
(C) By providing double earthing | Sd¢l 3T UeH HRb

(D) By decreasing the length of the electrodes | sachs Pl ddl'ig HH PD

Correct Answer : C

(5). How the sparking on the aluminium cored conductors binding joints can be

prevented? | TegHIIH HRS HSae ST SIS U W T &l & AT 5T
bl g7

(A) Making binding turns very tight and Close | W@TW@%E@HW
ARSI &

(B) By using multistrand conductor | WWWWW

(C) Providing more than one binding | W@ Gﬁ%aﬁ%ﬂ RENEC RG]

(D) By using copper binding wires | WWWWWW

Correct Answer : A




(6). What will happen to the value of earth resistance if length of the earth pipe is
increased? | S 31 UTST &1 WaTs d¢l &I ST df 31 UfcRie & A9 U 31 UHTd
qST?

(A) Remain same | a%’ﬂﬁ
(B) Increases | EIE??[%

(C) Becomes zero | Q]?TEPIGH?IT%
(D) Decreases | HHEI ST 8

Correct Answer : D

(7). Why earth resistance value required to keep very low? | Gfﬁhmﬂa?l
S5 HH TG HI AP §?

(A) For quick current flow | aﬁﬁm‘c’mém
(B) For easy measurement | &nﬂﬁrﬁméﬁﬁm
(C) For low power consumption | Wﬁﬁ?ﬁﬁ@'ﬁ%ﬁ‘m

(D) For low voltage drop | H e ol \§TL4 %%I'Q

Correct Answer : A

(8). What is the reason for the conductor cross sectional area can fully utilised on
transmission of DC as compared to AC? | Padc: bl I Yad e%a@’ra"r
g o SRI & ZRfiree iR Ot aRe A Ut fordt off gahd ¢ foh SU®! BRI
)

(A) No power loss | ﬁéﬁﬁ?ﬁ@ﬂe{qﬁ
(B) No corona loss | BRI @{qﬁé RERIG! '_'I_sgf
(C) No skin effect | Wwﬁs‘um:rs“r

(D) No transmission loss | #Wﬁﬁqﬁ




Correct Answer : C

(9). Which switch is operated at OFF load condition? | 3P ArS horeTH q9§|-|

1 R sifave giar g2

(A) Change over switch | a0 TR aRad=
(B) Push button switch | ’aa &1 gaTq
(C) Limit switch | ferfiie R

(D) lIsolating switch | 3TSTICIRI [&gd

Correct Answer : D

(10). Which is the name of part marked as ‘x’ of hydro electric plant? | Gl?lﬁ"f}ﬁ

T P X B FUH A YR HIAHEG |

(A) Surge tank | ﬂﬁf%

(B) Valve house | dled 513YH
(C) Penstock | U

(D) Reservoir | SIIRIY

Correct Answer : B



(11). Which is the use of lighting arrester in HT line? | HT <llg- o FII%IE‘I IRTR
&1 TN g U g 8»

(A) Protect the transformers from surge | gmuﬁ’ﬁﬁﬁmf@raaﬁ
(B) For short circuit protection | Wﬁﬂﬁ@ﬁ?%%%ﬁ

(C) For open circuit protection | WW@W%%’Q

(D) For leakage protection | WW%%‘I’Q

Correct Answer : A

(12). Which is the name of insulator? | 94 ‘{;ﬂadﬁ CAKGIE %I

A

(A) Suspension insulator | Wsﬁaﬂ

(B) Stay insulator | @37\3@13?
(C) Shackle insulator | ﬁﬁ%ﬁéﬂ

(D) Post insulator | Wgﬁﬁa

Correct Answer : C



(13). Which part of the circuit breaker is helpful in breaking the circuit? | gfthe

SHR BT HI- AT HITT Ffdhe ) dig— H I g7
(A) Trip coil | Eqﬁsﬂ

(B) Operating rod | RTINS

(C) Supporting chamber | JUIféT TR

(D) Circuit breaking chamber | WW%‘R

Correct Answer : A

(14). Why SF¢ gas is used in circuit breaker? | gfdhe s A SFe T T U
foraT STaT 82

(A) With stand cold condition | sol fufd o a1y

(B) Less maintenance | H drRd[d

(C) Electronegative gas | f&qu BUITHD ﬁﬂ
(D) Occupy less space | WWQB\’

Correct Answer : C

(15). What will happen to the string arrangement of disc insulators if one of the

disc insulator gets damaged? | qﬁ%ﬁ 'é{j,ac‘x oy Uh &ri%maa‘rama‘r%w
SYAR D1 T TR BT T ERI?

(A) Whole string become faulty | @ I@‘l LR ERRIE]

(B) Damaged insulator and the adjacent insulator will not function | effaod

2R 3R Haead! Sgaer & Tal
(C) Only the damaged disc will not function | PHad &I’I%IW%WW?@T$%‘“
(D) No effect operates normally | @13 Yt THTE ITHTI U J BT gl Bl

Correct Answer : C



(16). Which instrument is used to measure earth resistance? | Oh\I-I [ SUD R

31 gfeRYYy &1 A9 & fore vt fopan Siran g2
(A) Megger | TR

(B) Ohm meter | 3118 Hiex

(C) Wheatstone bridge | @Ic¥IH forel

(D) Earth tester | 3 ¢%X

Correct Answer : D

(17). How many disc of suspension insulators are to be connected in series for a

66KV working voltage? | 66KVWW$WWW$W

fS%h P 471 H SIST ST 82

(A) 2
(B) 3
(C) 4
(D) 6

Correct Answer : D

(18). What is the full form of ACB? | ACB &1 JUf U T §?
(A) Automatic Circuit Breaker

(B) Actual Circuit Breaker

(C) Alloy Circuit Breaker

(D) Air Circuit Breaker

Correct Answer : D



(19). Which condition circuit breaker operates? | g feufa & afdbe gz
i Bial 82

(A) Low current | hH YURI

(B) Over current | YD YRT
(C) Under voltage | 38T alecol
(D) Over voltage | 3P dleesl

Correct Answer : B

(20). Which distribution system is used for domestic light and appliances? | ‘Eﬁﬁ

ATSe 3R IUHRON & ford ford faaRur guredt &1 IuaT fordr i g2
(A) Single phase two wire | FTe Tl &I dR

(B) Three phase three wire | d1F Tl 9 AR

(C) Two phase Two wire | Gl 5ol &I AR

(D) Single Phase one wire | RiTTd thol T AR

Correct Answer : A

(21). what is the name of device used for protection against lightning in over head

line? | B TR & SHUR faoTall FIRA I YREM & el ST fohT S dTel SUDHRUI
BT AH T 3?

(A) Air circuit breaker | WWW
(B) OQil circuit breaker | dd Tfdhe s
(C) Lightning arrester | m&lﬁ?
(D) Isolator | 3113@@??

Correct Answer : C




~\

(22). What is the minimum size of the copper plate electrode? | e sadgls 3l
LA MTHR FT 8?2

(A) 30cm X 30cm
(B) 60cm X 40cm
(C) 60cm X 50cm
(D) 60cm X 60cm

Correct Answer : D

(23). Which is the full form of VCB? | VCB &1 0 U B AT 87
(A) Variable Circuit Breaker

(B) Voltage Control Breaker

(C) Vacuum Circuit Breaker

(D) Vacuum Control Breaker

Correct Answer : C

(24). Which insulation is necessary for proper function and basic protection? |

SFad ST SR FHATE! YRET & fo1E B A1 SR SHTTAD 62

(A) Supplementary insulation | 3IJUI® sv{ia-‘ilfl

(B) Reinforced insulation | Odferd sﬂﬁafll"l

(C) Functional insulation | Gblbllrd-I@ sﬂﬁafll"l

(D) Double insulation | Eﬁlé?lﬁﬂ:ﬂﬂﬁ%

Correct Answer : C



(25). What is the cause for the phase to ground fault in the transmission line? |

IR a3 8 1ol ¢ U3 S hice &I HRUT T g2

(A) Size of the conductor | HSFEY BT MTHR
(B) Over voltage | diceol ¥ 3HfYH

(C) Insulation failure | WW%W

(D) Transmission span | TeRT Al

Correct Answer : C

(26). What is the name of circuit breaker? | {-IEICOC ST 1 ATH T %?

R
)=

(o

i

t 4

(A) Vacuum circuit breaker | élcl'ijj-l Hﬁoc SIh

(B) Oil circuit breaker | YU &qXC {-IEICOC Sh

(C) Air blast circuit breaker | UUR oIc {-IEICOC Sh

(D) Air break circuit breaker | YUx P Hﬁ’)d STh

Correct Answer : C



(27). Which is the suitable place for construction of hydro power plant? |

TIfooTeR T4 B! WO & o STGaRd RIH DI 1 62
(A) Hill area IEIE'I?‘::H’H?
(B) Seashore | YHx dc

(C) Islands | @‘Tq
(D) Deserts |W’F[

Correct Answer : A

(28). Where system earthing is done? | Reen Wﬁﬁﬁﬁa?
(A) Multistorey building | dgl-ii.\\flc'ﬂ QHIRd

(B) Small industrial installation | <Y 3NN TITIT

(C) Generating station | SIS R

(D) Domestic wiring installation | WWW

Correct Answer : C

(29). What is the defect in air circuit breaker if trips intermittently on loading? |

g AfET R IH-3F HR U 81 T ol TR Fidhe 9= H o1 TRTe g2
(A) Incorrect setting of relay | X &I TTad I

(B) Line voltage is too high | <llg alee ol dgd &rfim%
(C) Excessive heat | i THf
(D) Insufficient air pressure | WW

Correct Answer : A



(30). Why the pointer of a megger is in the middle of the scale when ideal? |

3SR B IR AR &1 Yad UAH & T & 31 gldl g2
(A) Deflecting torque is proportional to the current | ﬁWW@W%

TN BT §
(B) Provided with air friction damping | maﬁmﬁw%mummw

(C) Without controlling torque | Tl ! Fdfd fea fom

(D) Deflecting torque is proportional to the square of the current | ﬁEH'Q'UT
ST YRT % T & FHUT Sid1 8

Correct Answer : C

(31). Which wiring installation the system earthing is to be done? | R sifdf

I IR ST B 62

(A) Industries | SIS

(B) Domestic wiring | ¢ AR

(C) Substations | SUDG!

(D) Commercial building | STAATIS FHRA

Correct Answer : C

(32). Which substation the transmission line voltage is stepped down to consumer
supply voltage? | fhd YT R TMHRH A dieesl &I SUHIGT 3Mgfd

dleesl dob b B fear Srdr 22

(A) Mining substation | g qae Y

(B) Secondary substation | @?ﬂ%ﬂa@m
(C) Distribution substation | TadRUT Jee=M

(D) Mobile substation | AITTSA YL




Correct Answer : C

(33). Which metal is used as contacts in substation switches? | ey Rag |
Picded b =0 H fohd YT HT IUANT ol STl g2

(A) Brass | Uidd
(B) Copper | didl
(C) Ssilver | Tial
(D) Tungsten | CTRCH

Correct Answer : C

(34). Which type of holder is to be earthed as per BIS? | fHg UsR % S\ICS{ &t

BIS o SJUR TS & forg Ryweiier &1 g2
(A) Angle holder | TTd Blee

(B) Bracket holder | S®¢ BITaR

(C) Batten lamp holder | ¢ T gleax
(D) Pendant lamp holder | T&¢ o YR

Correct Answer : B

(35). Which switch with an actuator is operated by the motion of a machine or
part of an object? | TFRJUCAICT I 1 9 WWWWW%%@
B 71 Y enferd Bl 2

(A) Isolating switch | EIW%?[
(B) Push button switch | g &1 game
(C) Toggle switch | et ae:il




(D) Limit switch | A1 ufvadq

Correct Answer : D

(36). What is the defect in a oil circuit breaker if the oil heats up excessively? |

g1 Tt SfATEres TTH BT Y Al o Aieve sipx | o BRIa 62
(A) Line voltage is too high | <1l alee ol dgd &rfim%

(B) Excessive load | 3B HR

(C) Defective tripping mechanism | W%@Taﬁ

(D) Poor dielectric strength | WWE&HW

Correct Answer : D

(37). Which type of AC transmission is universally adopted? | mwmmﬂ
SRR T H® 0 J 39T STl 82

(A) Three phase Three wire | A TR G dR
(B) Two phase Four wire | ) RO AR dR

(C) Two phase Three wire | o TRUT o dR
(D) Single phase Two wire | QWER'UTEP[T‘HT

Correct Answer : A

(38). Which material is used to made moderator in nuclear reactor? | UXHIT]

fuaeR § ATever 991 & o foy wmeht &1 Iudi e Sirar g2
(A) Graphite | ‘EI'CFE_C’

(B) Uranium |Z|3ﬁ'5|1:[
(C) Nickel | Ffdd




(D) Copper | HIWR

Correct Answer : A

(39). What is service main? | Hﬁﬂﬁ?w%?

(A) The cable carrying supply from distributor to meter of consumer | %@@_@T

Y IUHIFT & Hiex I @S & &4 aTcll had

(B) The cable carrying supply from meter to load | M Y A8 I {-IL('H‘QS@T ST

CINICEN]

(C) The cable carrying supply from generating station to transformer | STRTET

WIH Y TABIR db & Y@ B dTell had

(D) The cable carrying supply from transformer to over head line | @ﬂ'@ﬁ?@

NI 8BS A dPp IS o &4 dTcil had

Correct Answer : A

(40). What is the expansion of ECC? | ECC WWW%?
(A) Earth Carrying Conductor

(B) Earth Conductor Connection

(C) Earth Continuity Conductor

(D) Earth Common Conductor

Correct Answer : C

(41). Which system pole mounted substations are used? | fPaRer d U@
ATSCE YA B SUINT [T A1 82

(A) Primary distribution | UTdf¥e faaror
(B) Secondary distribution | Y8~ fAdRol



(C) Primary transmission | TS TRl
(D) Secondary transmission | b el o

Correct Answer : B

(42). Which is the voltage range of secondary distribution? | b3 fadaur &1
diecst A0 I I g2

(A) 66KV

(B) 33KV
(C) 11KV
(D) 415V

Correct Answer : D

(43). What principle earth tester works? | frg Rigid R 31 TR HTH BT %?
(A) Potential dividing method | Uiefaad f[auTei fafe

(B) Fall of potential method | Uicgd Bid fafd

(C) Fall of resistance method | Uiy BTd faf &1

(D) Current dividing method | YC fayreH fafe

Correct Answer : B

(44). What is the full form of ACSR? | ACSR &1 JUT U &1 2
(A) Aluminium Core Steel Reinforced

(B) Aluminium Covered Steel Reinforced

(C) Aluminium Conductor Steel Reinforced

(D) All Conductors Steel Reinforced



Correct Answer : C

(45). Which is the function of a lightning arrester? | Wﬁlﬁ?ﬁ g=a! BT BRI 1

87

(A) Protection from over current | WW@@&T

(B) Protection from leakage current | WW@@T&H
(C) Protection from lower current | Fﬁ&r\’WﬁﬁT&ﬂ

(D) Protection from over voltage due to lightning | Q’il‘édi:i‘l Pl duig q 3R

dlees J GRa&f

Correct Answer : D

(46). Which insulator is used for terminating corner poles? | P & GH B JAT

H & o Ty SRIcTex &1 I fhar SIrar g2
(A) Pininsulator | fﬁ?sﬁﬁa

(B) Shackle insulators | -‘?IOI’)('i ‘{;{j@idi

(C) Stay insulator | @37{1@??

(D) Cap and pin type insulator | Y 3R o clgy éii@k‘.i

Correct Answer : B

(47). What is the main purpose of oil in oil circuit breaker? | ad gfdhe seH ad
B T I T g?

(A) Provide insulation | ’5'{1@1-‘&'1 UG

(B) Quenching arc | W@Q T
(C) Providing cooling for contacts | PHicac H da e Bl




(D) Act as lubrication | %%wﬁwﬁm

Correct Answer : B

(48). What is the range of good earth resistance? | 3=y 31 ufeaRty &t T 3

82

(A) High resistance | 3 Uiy

(B) Very low resistance | ag?rwcn%fr%r

(C) Medium resistance | HeoH Uiy

(D) Very high resistance | aﬁﬁﬁﬁmﬂ

Correct Answer : B

(49). What is the name of conductor used in over head lines? | GhTﬂ%_S NIER] &
SR HSdeR & FTAH Bl

(A) ACSR
(B) Iron | FnET
(C) Brass | didd

(D) Copper | GIEI

Correct Answer : A

(50). Which is used to carry higher voltage for long distance transmission? | it

8 & AR & o I diee s o O & fort frgest Iuai forar Sirar g2
(A) Feeder | TPI8X

(B) Distributor | fddR®

(C) Service main | IfdT AA




(D) Service wire | Jfag dr

Correct Answer : A



